# DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY Ranchi, Jharkhand.



# NOTICE INVITING TENDER FOR

REPAIRING AND RENOVATION OF STAFF TOILET OF SOCIOLOGY DEPARTMENT, BOYS TOILET OF CHEMISTRY DEPARTMENT & GIRLS COMMON ROOM AT

DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY



# DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY Ranchi, Jharkhand.

Memo: DSPMU/G/10/25 Dated: 04.01.2025

#### **NOTICE INVITING TENDER**

Dr. Shyama Prasad Mukherjee University, Ranchi-834008, Jharkhand invites tenders under two bid system (Part-I: Technical Bid and Part II: Financial Bid), from experienced and reputed contractor/firms/agencies/companies only for **Tender Id: DSPMU/G/07/25 dated 04.01.2025 for "Repairing and Renovation of Staff Toilet of Sociology Department, Boys Toilet of Chemistry Department & Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand"**. The detailed information about the tender document can be obtained from the office of the Section-Officer (General) or from the University Website:- <a href="www.dspmuranchi.ac.in">www.dspmuranchi.ac.in</a>.

Registrar DSPMU, Ranchi



#### DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY

P.O.: Ranchi College, Morabadi, Ranchi – 834008, Jharkhand.

Email: registrardspmuranchi@gmail.com, Website: www.dspmuranchi.ac.in

#### **NOTICE INVITING TENDER**

Repairing and Renovation of Staff Toilet at Sociology Department, Boys Toilet of Chemistry Department & Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.

**Tender ID: DSPMU/G/07/2025** 

Notice Inviting Tender are invited from **eligible and experienced reputed contractors/ firms /agencies/ companies** who have successfully completed **similar works** in Central/ State Govt/ PSU's during **last 3 (three) years** ending **31.12.2025**.

Dated: 04.01.2025

S. No.	Name of the work	Estimated cost (Rs.)	Earnest Money Deposit (EMD)/ Bid Security (Rs)	Completion Time	Issue of Blank Tender Document	Last Date of Submission Tender
1.	Repairing and Renovation of Staff Toilet at Sociology Department, Boys Toilet at Chemistry Department & Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.	₹ 4,48,553 /- (Exclusive of GST & Labour Cess)	Rs. 10,000/-	30 days	From 05.01.2025 to 16.01.2025 within office hours.	16.01.2025 up to 01:00 PM

1. Blank tender documents (non-transferable) for above work shall be issued from 05/01/2025 to 16/01/2025 till 01:00 PM on all working days from the address given below on payment of required tender fee of Rs. 5,000/- (Rupees Five Thousand only) (non-refundable) in the form of DD/Pay order/Bankers Cheque in favour of "The Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand" payable at Ranchi. The intending Bidder can obtain the complete tender

document from the Office of the Section–Officer (General) **or can be downloaded from the University Website:** <a href="www.dspmuranchi.ac.in">www.dspmuranchi.ac.in</a> and submit the same along with requisite i.e. Tender Fee, EMD and supporting documents on or before the due date and time of submission.

- 2. Intending Bidder should have valid registration with appropriate authorities for statuary taxes as applicable.
- 3. The intending Bidder should have satisfactorily completed similar works in Central/ State Govt/ PSU's during last 3(Three) years ending 31.12.2024. Similar nature work means: "Civil works related to Building Construction" only.
- 4. The tender documents duly completed along with tender fee and EMD in form of Demand Draft/Pay Order in favour of the "The Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand" payable at Ranchi drawn from any Nationalized Bank/scheduled bank and should be submitted in the office of the The Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand up to 1:00 PM on or before 16/01/2025. Technical bid of the parties shall be opened on dated, 18/01/2025 at 2:30 PM in the presence of Bidder who wish to be present. The tender submitted without tender fee shall be summarily rejected. The price bids of technically qualified parties shall be opened at a same date or later date and the technically qualified parties shall be informed in advance about the opening of their price bid.
- 5. University reserves the right to reject any or all the tenders without assigning any reason thereof and also not bound to accept lowest tender. Tenders not fulfilling the prescribed conditions or are found incomplete in any respect are liable to be rejected.
- 6. Canvassing, whether directly or indirectly in connection with tender is strictly prohibited and the tender submitted by the contractors who resort canvassing will be liable to be rejected summarily.
- 7. The subletting of work to anyone after agreement by the Contractor will be treated as breach of agreement and after receiving due information, the agreement will be cancelled and the contractor will be black listed.

Registrar DSPMU, Ranchi



#### DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY

P.O.: Ranchi College, Morabadi, Ranchi – 834008, Jharkhand.

Email: registrardspmuranchi@gmail.com, Website: www.dspmuranchi.ac.in

#### **SCHEDULE OF TENDER**

Name of the Office Inviting Tender	Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi.
Nature of Work/Services	Repairing and Renovation of Staff Toilet at Sociology Department, Boys Toilet at Chemistry Department & Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.
Tender No.	DSPMU/G/07/25 Dated: 04/01/2025
Tender Processing Fee	Rs. 5000/- (Rupees Five Thousand only)
EMD (Refundable)	Rs. 10,000/-
Mode of Tender Fee	The Bidders should submit the Tender Fee (non-refundable) and EMD in the form of Demand Draft drawn from any scheduled nationalized bank in favour of "The Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand" payable at Ranchi.
Publication of Tender on University website	05/01/2025 at 04:00 PM
Last date and time for Submission of tender documents	16/01/2025 till 1:00 PM
Date and Time for Opening of the Tender (Technical Bid only)	18/01/2025 at 2:30 PM
Date and Time for Opening of the Financial Bid	Will be intimated at the time of Technical Bid Opening
Place of Tender Opening	Dr. Shyama Prasad Mukherjee University, Ranchi

**Note:-***If the tender is not opened on the above date, due to unforeseen circumstances, then the next working day will be considered as tender opening date.* 

#### **INSTRUCTIONS TO BIDDERS**

- 1. Tender document can be obtained from the Office of the Section–Officer (General) or from the university website <a href="www.dspmuranchi.ac.in">www.dspmuranchi.ac.in</a>.
- 2. The bidders are requested to read the tender document carefully and ensure all the compliance with instructions herein. Non-compliance of the instructions contained in this document may disqualify the bidders from the tender process.
- 3. All offers should be written in the English and price should be written in both, figures and words. The offer should be typed or written by ink pen or ball pen. **Offer in pencil will be ignored**.
- 4. The agencies/bidders/firms are advised to read carefully the tender documents and terms and conditions before quoting/submitting their bid.
- 5. All the pages of the tender documents should be signed and stamped by bidders for their acceptance of all terms and conditions of the tender.
- 6. Quoting firms must put page number on every page of the bid. It is also required that page nos. of the documents attached should be mentioned against each item of the main bid.
- 7. The Tender Fee must be deposited in the form of Demand Draft from any scheduled bank drawn in favour of "The Registrar, Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand" payable at Ranchi before the last date of bid submission.
- 8. Address and contact numbers for seeking clarifications & Communication: -
- (a) Address for Communication:

The Registrar Dr. Shyama Prasad Mukherjee University, Morabadi, P.O.- Ranchi University, Dist.- Ranchi - 834008 (Jharkhand)

- (b) Name/Designation of the contact personnel: Dr. Namita Singh, Registrar
- (c) Telephone/Mobile numbers: **+91-8674981448**
- (d) E-mail ID of contact personnel: registrardspmuranchi@gmail.com

#### **QUALIFICATION/ ELIGIBILITY CRITERIA**

- 1. The bidder should be an Income tax assesses (latest Income Tax return should be enclosed) and it should comply with the Indirect Tax also i.e. GST No.
- Work Experience: The intending Bidder should have satisfactorily completed similar works during last 3(Three) years ending 31.12.2024. Similar nature work means: "Civil works related to Building Construction" only. The values mentioned above are inclusive of service tax/GST.
- 3. The contractor will be required to deposit tender document fee of Rs. 5000/- (Rupees Five Thousand Only) in the form of DD drawn from any Nationalized/Scheduled Bank in favour of "The Registrar, Dr. Shyama Prasad Mukherjee University" payable at Ranchi.
- 4. The Contractor will be required to deposit Earnest Money Deposit of Rs. 10,000/- (Rupees Twenty Thousand Only) in the form of DD drawn from any Nationalized/Scheduled Bank in favour of "The Registrar, Dr. Shyama Prasad Mukherjee University" payable at Ranchi.
- 5. Dispute, if any, between the Contractor and the University shall be subject to the jurisdiction of Ranchi only.
- 6. The bidder should submit the bid through Speed Post/Courier/by hand up to **01:00 PM** on or before **16/01/2025** along with the tender document fee and EMD. The tender can be submitted on all workings days between 11:00 AM to 03:00 PM on or before the closing date.
- 7. The tender inviting authority may extend the last date for submission of tender by issuing an amendment.
- 8. The sealed tender envelope shall be addressed to "THE REGISTRAR, Dr. SHYAMA PRASAD MUKHERJEE UNIVERSITY, RANCHI, JHARKHAND". The Tender envelope shall contain clearly the name and address of the Tenderer prominently, with Phone Number, email ID and Postal address.
- 9. Information relating to the examination, clarification, evaluation and comparison of tenders and recommendations for the award of contract shall not be disclosed to Bidder or any other persons not officially concerned with such process until the award to the successful Bidder has been announced.

- 10. In case of a Tie, the committee members may resolve the tie situation based on highest turnover and experience of the bidders. The Committee decision shall be final and abiding for all the parties.
- 11. The contractor should not transfer/sublet the management to any other individual or agency. The proprietor or his authorized representative should be present in the premises and supervise the repair works.
- 12. In case of violation of terms & conditions the DSPMU may take appropriate action and/or terminate the successful bidder without any payment for the work.
- 13. It is hereby acknowledged that I have gone through the entire tender document and various conditions mentioned here under and we agree to abide by them.

#### **GENERAL RULES**

- 1. Bidders have to fill in all such information as required in the tender documents.
- 2. The Rates Quoted by the bidder shall be exclusive of GST.
- 3. The bidder shall be presumed to have carefully examined the type of work.
- 4. The Bidder shall submit a program of the execution of the work along with the tender.
- 5. The Bidder will maintain watch guards for the safety of the materials. The University is not responsible for any loss of materials.
- 6. The Bidder will provide to the labourers, huts for shelter, drinking water and medical facilities at site and keep the site clean at his own cost.
- 7. Extension of time may be granted on valid ground by the Competent Authority as per Government rules and circulars in force and as revised from time to time.
- 8. If the rate quoted by the bidder is above the BOQ rate and the Competent Authority has approved above the BOQ rate, then the enhancement over the BOQ rates shall not be applicable over the cost of materials applicable as per latest Building Construction Department and Drinking Water and Sanitary Department.
- 9. If the Bidder quotes the rate below the BOQ rate and the Competent Authority approves it, then the deduction over the BOQ rate shall be applicable on the items of work include the cost of materials applicable as per latest Building Construction Department and Drinking Water and Sanitary Department.

#### **Technical Bid Envelope**

- 1. Copy of Firms Registration / Incorporation Certificate.
- 2. Copy of GST Registration.
- 3. Copy of PAN.
- 4. Copy of Tender Fee as Demand Draft of Rs. 5000/-.
- 5. Copy of Tender Earnest Money Deposit as DD of Rs. 20000/-.
- 6. Copy of Income Tax Return of Last Year.
- 7. Copy of Similar Work Experience in Last Three Years.
- 8. Duly filled of Appendix –II.
- 9. Duly filled Appendix IV.

#### Financial Bid Envelope

1. Dully filled Appendix -III

Sd/-

Registrar

## Appendix 1

#### List of works

NAME OF WORK  REPAIR AND RENOVATION OF OFFICE TOILET AT DEPARTMENT OF SOCIOLOGY, BOYS TOILET DEPARTMENT OF CHEMISTRY AND GIRLS COMMON ROOM					GY, BOYS				
Locatio	on :	DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY	DR. SHYAMA PRASAD MUKHERJEE UNIVERSITY, RANCHI						
		Rates based on Jharkhand SOR-2022 and DSR-2	023						
S. No.	ITEM NO	ITEM DESCRIPTION	Unit	BOQ Qty	BOQ Rates	Amount in (Rs)			
1	JSR 5.2.11	Providing designation 75A brick work in C.M (1.6) in superstructure with approved quality of clean coarse sand of F.M 2 to 2.5 including providing 10mm thick mortar joints, costs of screening, materials, scaffolding, raking out joints to 15 mm depth curing, taxes and royalty all complete as per building specification and direction of E/I.	Cum	0.473	5573.7	2633.56			
2	JSR 5.3.1.4	1:3:6 (1 cement : 3 Coarse sand : 6 graded stone aggregate 20 mm nominal size)	Cum	2.47	4125.41	10189.76			
3	JSR 5.10.10	Taking down old door and window shutters including stacking serviceable materials within 15M. lead and disposal of unserviceable materials with all leads all complete as per direciton of E/I.	Each	6.00	45.12	270.72			
4	JSR 5.10.11	Taking down chowkhat in windows including stacking serviceable materials within 15M. lead and disposal of unserviceable materials with all leads all complete as per direciton of E/I.	Each	6.00	89.88	539.28			
5	DSR 15.23.1	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead. 15.23.1 For thickness of tiles 10 mm to 25 mm For thickness of tiles 10 mm to 25 mm	Sqm	39.00	59.90	2336.05			
6	JSR 5.10.7	Dismantling old plaster and pointing in cement or lime and raking out joints to 15mm depth,watering and disposal of unserviceable materials with all leads all complete as per direction of E/I.	Sqm	166.12	21.46	3564.98			

7	DSR 22.5	Providing and laying water proofing treatment in sunken portion of WCs,bathroom etc., by applying cement slurry mixed with water proofing cement compound consisting of applying:  (a) First layer of slurry of cement @ 0.488 kg/sqm mixed with water proofing cement compound @ 0.253 kg/ sqm. This layer will be allowed to air cure for 4 hours.  (b) Second layer of slurry of cement @ 0.242 kg/sqm mixed with water proofing cement compound @ 0.126 kg/sqm. This layer will be allowed to air cure for 4 hours followed with water curing for 48 hours. The rate includes preparation of surface, treatment and sealing of all joints, corners, junctions of pipes and masonry with polymer mixed slurry.	Sqm	18.87	503.55	9501.99
8	JSR 5.7.3	Providing 12 mm Thick cement plaster (1:6) with clean coarse sand of F.M 1.5 including screening, curing with all leads and lifts of water, scaffolding taxes and royalty all complete as per building specification and direction of E/I.	Sqm	166.12	165.80	27543.03
9	DSR 11.40	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., complete.	Sqm	18.87	1174.64	22165.40
10	JSR 5.6.23	Providing and laying 6mm precast white glazed tiles in walls over 12mm cement mortar (1:3) and jointed with grey cement slurry flushed pointed with white cement including rubbing, polishing and cost of curing taxes, and royalty all complete as per building specification and direction of E/I.				
	5.6.23.4	With commercial grade colour Tiles  Providing and laying Doublecharge vitrified	Sqm	53.16	1336.13	71028.67
11	JSR 5.6.28	floor tiles in different sizes (thickness to be specified bt the manufacturer) with water absorption less tha 0.08% and conforming to IS: 15622/ISI 13006 of approved make,in all colour and shades,laid on 20mm thick cement mortar 1:4 (1 cement: 4 coarse sand), jointing with grey cement slurry @3.3kg/ sqm including grouting the joints with white cement and matching pigments etc, complete. Size of Tiles 600x600 mm	Sqm	49.40	950.33	46946.30

		sizes.Providing and laying Doublecharge vitrified floor tiles				
12	DSR 14.82	Dismantling W.C. Pan of all sizes including disposal of dismantled materials including malba all complete as per directions of Engineer-in-Charge.	Each	2.00	109.43	218.87
13	DSR 15.52	Dismantling of flushing cistern of all types (C.I/PVC/vitrious china) including stacking of useful materials near the site and disposal of unserviceable materials within 50m lead.	Each	2.00	91.44	182.88
14	DSR 17.5	Providing and fixing white vitreous china flat back half stall urinal of size 580x380x350 mm with white PVC automatic flushing cistern, with fittings, standard size C.P. brass flush pipe, spreaders with unions and clamps (all in C.P. brass) with waste fitting as per IS: 2556, C.I. trap with outlet grating and other couplings in C.P. brass, including painting of fittings and cutting and making good the walls and floors wherever required:				
	17.5.1	Single half stall urinal with 5 litre P.V.C. automatic flushing cistern	Each	1.00	9851.27	9851.27
15	DWSD 3.2.1	Supplying, fitting and fixing vitreous white glazed earthen ware I.W.C. of parry Hindustan or any other I.S.S approved make with 100mm H.C.I 'p' trap 15 liters C.I pull and let go flushing cistern of names or other I.S.S equivalent make, complete with all fittings, C.I or C.C brackets 32mm alkathene/P.V.C telescopic flush, pipe about 2M long with one brass coupling and clamps G.I chain and pull including supplying and fixing a pair of vitreous white glazed earthernware footrest to be fixed in floor 15mm C.I body brass spindle stop cock weight not less than 50grms, 15mm P.V.C connection pipe 450mm long and exposed pipe and cistern with two coats of approved paints over a coat of red oxide primer etc.all complete as per specification and direction of E/I.				
	(B)	510mm long				
	(c)	with 10 litrers low level PVC cistern	Each	1.00	4501.63	4501.63

1		CIPIE 40mm high trans	I	I	l I	
		S/F/F 40mm high vitreous white glazed earthern ware E.W.C with 'p' trap of parry or				
		Hindustan or any other I.S.S approved make				
		including supplying and fixing 15liters C.I				
		mosquito proof low down flushing cistern of				
		approved make with complete fitting with C.I				
		handle and R.S or bracket with telescopic				
		flush pipe with brass coupling and plumbers				
16	DWSD	joints spindle stop cock of approved quality				
	3.2.2	weight not less tha 450gm 15mm P.V.C				
		alkathene pipe 45cm long with brass				
		coupling at both ends and white/black plastic				
		solid state seal and lead of				
		commander/cuckoo or other I.S.S make with				
		hinges or screw etc painting pipe and cistern				
		etc with 2 coats of approved paint over a				
		coat of red oxide priming, all complete as per				
	<i>(</i> :\	specification and direction of E/I.100mm -do-				
	(i)	With 'P' trap				
	(b)	with 10 lit. low level PVC cistern	Each	2.00	4786.86	9573.72
		S/F/F vitreous white glazed earthen ware				
		wash hand basin of parry or Hindustan or any				
	DWSD 3.2.5	other I.S.S approved make supported on				
		painted C.I or R.S brackets 32mm C.I brass				
17		waste,15mm dia C.I body brass spindle stop	Each	2.00	2084.36	4168.72
		cock of approved quality of weight not less				
		than 350grams,32mm P.V.C waste pipe				
		750mm long with brass coupling at one end				
		and making plumber joints etc all complete as per specification and direction of E/I.				
		S/F/F flat back or angular,lipped front				
		vitreous white glazed earthen ware urinal of				
		'Hindustan or Parry' or any other approved				
		I.S.S make with 5 liters capacity C.I automatic				
		flushing cistern of reliance or any other I.S.S				
		approved make with all fittings with C.I or				
		R.S brackets, standard size G.I flush pipe with				
		fittings clamps,15mm C.I body brass spindle				
18	DWSD	stop cock of approved quality weight not less				
	3.2.3	than 400grams,15mm PVC alkthene pipe				
		450mm long with brass coupling at both ends				
		and doing plumber joints including painting				
		of exposed part with two coats of approved				
		paint over a priming coat of red oxide cutting				
		wall and floor,making good the same etc. all				
		complete as per specification and direction of				
		E/I.				
	<i>(</i> 1. \	Standing Corner (600mm x 350mm)	Each	3.00	3977.51	11932.53
	(þ)				· · · • -	
	(b)					
	DWSD	Supplying, fitting and fixing Mirrors of 6mm				
19			Each	2.00	1436.59	2873.18

		mirror. 600 X 450mm				
	(a)	Glass shelf with C.P brass rail.				
	(i)	600x125 glass shelf complete	Each	1.00	593.04	593.04
		C.P brass towel rail 20mmx600mm with				
	(c)	bracket container	Each	1.00	664.82	664.82
20	18.8.2 & fittings with one step CPVC solvent cement and the cost of cutting chases and making good the same including testing of joints complete as per direction of Engineer in					
		Charge.  Concealed work, including cutting chases and				
		making good the walls etc.				
		15 mm nominal dia Pipes	Meter	20.00	406.23	8124.69
		20 mm nominal dia Pipes	Meter	12.00	438.71	5264.57
21	DSR 12.41.2	Providing and fixing on wall face unplasticised Rigid PVC Rain Water Pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion, (i) Single socketed pipes.				
		110mm diameter	Meter	50.00	308.13	15406.26
22	DSR 12.42	Providing and fixing on wall face unplasticised - PVC Moulded Fittings/Accessories for unplasticised Rigid PVC rain water pipes conformingto IS: 13592 Type A, including jointing with seal ring conforming to IS: 5382, leaving 10 mm gap for thermal expansion.				
	12.42.1	Coupler				
	12.42.1.2	110 mm	Each	5.00	111.11	555.53
	12.42.4	Single tee without door				
	12.42.4.2	110x110x110 mm	Each	5.00	180.63	903.17
	12.42.5	Bend 87.5°				
	12.42.5.2	110 mm bend	Each	5.00	122.69	613.47
	12.42.6	Shoe (Plain)				
	12.42.6.2	110 mm Shoe	Each	2.00	107.60	215.20
23	DSR 13.80	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth complete	Sqm	219.35	127.35	27933.38

24	JSR 5.8.31	Providing two coat of synthetic enamel paint of approved shade and make over old wooden surface including cleaning the surface after removing dirt including scales as per direction of E/I.	Sqm	34.16	120.82	4127.69
25	JSR 5.8.17	Providing two coats of oil bound distemper of approved shade and make over old surface -do-	Sqm	53.08	74.27	3942.25
26	JSR 5.5.12	Supplying, fitting and fixing M.S. grill made of 20x6mm M.S. flat as per approved design and drawing, properly fabricated with joints continuous fillet welded and finished smooth , carriage of grill to work site, hoisting as per building specification and direction of E/I. (where materials is not supplied by the deptt.)	Kg	132.41	82.31	10898.68
27	JSR 5.8.21	Providing two coats of plastic emulsion paint of approved shade and make over old surface including washing cleaning and preparing the walls scaffolding washing of floor and taxes all complete as per building specification and direction of E/I.	Sqm	219.35	249.46	54719.05
28	DSR 21.1	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections/ appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately):				
	21.1.1	For fixed portion				
	21.1.1.1	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	Kg	32.35	403.99	13067.68
29	DSR 21.1.2	For shutters of doors, windows & ventilators including providing and fixing hinges/ pivots and making provision for fixing of fittings wherever required including the cost of EPDM rubber / neoprene gasket required (Fittings shall be paid for separately)				

	21.1.2.1	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	Kg	15.53	488.49	7588.65
30	DSR 21.3	Providing and fixing glazing in aluminium door, window, ventilator shutters and partitions etc. with EPDM rubber / neoprene gasket etc. complete as per the architectural drawings and the directions of engineer-incharge . (Cost of aluminium snap beading shall be paid in basic item):				
	21.3.1	With float glass panes of 4.0 mm thickness (weight not less than 10 kg/sqm)	Sqm	7.08	960.34	6799.20
31	DSR 2631	4 mm thick ACP	Sqm	3.96	1303.53	5161.99
32	M960 (v)	Steel jali - 100mm dia.	Each	6.00	55.20	331.19
	M960 (vi)	15mm C.P. nipple with coupling	Each	3.00	100.24	300.71
	M-961 (ii)	Pillar Cock (long Neck) (ISI Marked)	Each	1.00	927.07	927.07
33	MR	S/F/F Pressmatic Angle cock self closing system (Chrome) of Hindware	Each	1.00	1350.00	1350.00
34	MR	Providing and fixing C.P Brass health faucet for ablution with 1 meter tube, hand shower, couplings, wall hook and other accessories.	Each	1.00	1600.00	1600.00
35	JSR 5.4.40	Supplying, Fitting and Fixing 30mm thick solid core type non decorative single leaf flush shutter -do-	Sqm	1.58	1552.67	2445.46
		ELECTRICAL ITEMS				
1	1.3	Point wiring in PVC conduit , with Modular type switch :- wiring for light point /fan point /exhaust fan point /call bell point , with 1.5 sq.mm FR PVC insulated copper conductor single core in surface / recessed PVC conduit , Piono type switch ,Phenolic laminated sheet with suitable size PVC/MS box etc as required.				
	1.3.1	Group A	Points	16.00	607.00	9712.00
2	1.5	Power Plug wiring in PVC conduit (2x4 sq.mm)				
		Wiring for light power plug with 2x4 sq.mm FR PVC insulated copper conductor single core cable in surface/recessed PVC conduit, along with 1 No 4 sq.mm FR PVC insulated copper conductor single core cable for loop earthing etc as required	Meter	30.00	262.00	7860.00

	l	C/F light where maint with modules town	I	I	1 1	
		S/F light plug point with modular type accessories:- Supplying and fixing suitable GI				
		box with modular plac and cover in front on				
		surface of in recess, including providing and				
3	1.31	fixing 3 pin 5/6 amps modular socket outlet	Each	4.00	322.00	1288.00
		and 5/6 amps modular switch. corutection,				
		painting etc. as required (For light plugs to be				
		used in non residential buildings)				
		Supplying and fixing G.I box with modular				
		plac and cover in front on surface of in				
_		recess,including providing and fixing 6 pin				4.500.00
4	1.32	15/16 amps modular socket outlet and 15/16	Each	4.00	405.00	1620.00
		amps modular switch.connecting,painting etc				
		as required (for light plug to be used in non residential building)				
		S/F Modular type switch/ socket :-				
		Supplying and fixing of following modular				
5	1.24	switch / soket on the existing modular plate				
		& switch box including connections but				
		excluding modular plate etc. as required.				
_	1.24.4	5/6 amps, 3 pin socket outlet	Each	2.00	88.00	176.00
6	1.48	ITC Exhaust fan upto 450mm sweep	Each	3.00	61.00	183.00
7	M-775	12" (300 mm)metal exaust fan	Each	3.00	1350.66	4051.99
		I.T.C of floowing rating surface mounted LED				
8	9.5	tube light fitting suitable for 230V 50H2,				
		single phase supply etc. complete as required.				
	9.5.2	20/22W LED Tube light	Each	8.00	628.00	5024.00
9	1.34	S/F Batten Holder	Each	2.00	45.00	90.00
		Supplying and Fixing Batten/Angle holder				
		including connection etc req.				
10	M-855	9/10 watt LED Bulb Make-Phillips,Bajaj	Each	2.00	114.95	229.90
		ITC ceiling fan:-Installation, testing and				
		commissioning of ceiling fan, including wiring				
11	1.44	the down rods of standard length (upto 30	Each	2.00	111.00	222.00
		cm) with 1.5 sq.mm FR PVC insulated, copper				
		conductor, single core cable etc. as required.  Supply Installation, testing and				
		commissioning of follwing size ceiling fan 3				
		Blades confirming to 13:374, 2019 including				
12	9.4	wiring the down rods of ndard length (upto				
		30cm) with I.Ssq.mm. FR PVC insulated,				
		copper wire suitable for 230V 50H2, single				
		phase supply etc. complete as required.				
	9.4.1	1200mm (48") Ceiling Fan	Each	2.00	1748.00	3496.00
		Carriage of Materials	Cum	2.32	227.64	528.53
		Carriage of sand @ 8 km lead	Cum	1.16	444.12	515.58
		Carriage of metal @ 22 km lead			T-1-1	440
					Total	448553.30
			<u> </u>		Say	448553.00

#### **Technical Bid**

Tender for Repair and Renovation of Office Toilet at Department of Sociology, Boys Toilet Department of Chemistry and Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.

S. No.	Details to be Furnished by the Tenderer		Details provided by the Tenderer
1.	Name and address of the contractor with	_	
1.	phone no. and e-mail ID, if any.	:	
	Registration number and date of		
2	registration of the company/ cooperative/		
2.	agency/ SHG/ Society, if any.	:	
	(Certificate to this effect should be enclosed)		
3.	Year of Establishment	:	
	Type of Organization:	:	
	(Whether Proprietorship, Partnership,		
	Private Ltd. Company or Co-operative body etc.).		
4.	In case the applicant is a non-individual,		
	Certified copy of a Partnership deed/		
	Certificate of Incorporation / Certificate of Registration issued by the Registrar of Cooperative Societies/as the case, should be enclosed.		
5.	Enclose Experience certificates from previous clients with contact no.	:	
6.	PAN Number(photocopy to be enclosed)	:	
7	Service tax, Sales tax/ GST Registration No.,	:	
7.	(Number and photocopy ofcertificates to be given)		
8.	Any other Information	:	

Further it is certified that I/We will abide by the technical and commercial terms and conditions of the Tender and also other rules and regulations of Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.

(Signature of the Tenderer with seal)
Page 19 of 22

#### <u>Financial Bid</u> Format for Financial Bid

To

The Registrar, Dr. Shyama Prasad Mukherjee University, Morabadi, Ranchi, Jharkhand.

Sub: Repair and Renovation of Office Toilet at Department of Sociology, Boys Toilet Department of Chemistry and Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand.

Madam,

In response to your advertisement of **Tender Id**: **DSPMU/G/07/25 dated 04.01.2025** for "Repair and Renovation of Office Toilet at Department of Sociology, Boys Toilet Department of Chemistry and Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, **Jharkhand**. we herewith submit our financial bid.

S no	Description	Estimated Amount	Bid Price Quoted by the Contractor in Percentage above or below (+/-) on estimated amount.
1	Repair and Renovation of Office Toilet at Department of Sociology, Boys Toilet Department of Chemistry and Girls Common Room at Dr. Shyama Prasad Mukherjee University, Ranchi, Jharkhand	Four Lakhs Forty	

Date: (Signature of the Tenderer with seal)

<sup>\*</sup> Work to be done is given at Appendix 1.

<sup>\*\*</sup>The Lowest rate of bid will be considered for award of work.

## Appendix 4

## Check List (Strike off which is not applicable)

S. No.	Details	Yes/No	Page No.
1.	Company Registration/ Incorporation details		
2.	<b>GST Registration</b>		
3.	PAN Details		
4.	Tender Fee Rs. 5,000 /-		
5.	EMD of Rs. 20,000/-		
6.	Income Tax Return for Last Year		
7.	Copy of Similar Work Experience in Three Last Year		
8.	Duly filled Appendix - II		
9.	Duly filled Appendix - III		
	(Signatu	are of the T	Tenderer)
(Name and Address) (Company Seal)			ny Seal)

#### Appendix 5

#### **DECLARATION**

I/We having our office as mentioned under declare that I/we have never been blacklisted by any State Government/Central Government or any State/Central PSU.

#### **Signature**

Name :
Designation :
Name of the Agency :

Address of the Bidder

Seal of Bidder

Date : Place :